Summarize the following address with the most specific mask  (e.g  3.3.3.0 /24, 3.3.4.0 /24   3.3.5.0 /24   Summary address = 3.3.0.0 255.255.248.0 or 3.3.0.0/21)

a) 172.16.60.0 /24   172.16.61.0 /24   172.16.62.0 /24   

Given 192.164.10.33 255.255.255.224 determine the subnet and broadcast address.

For router summarization to work correctly, Which of the following requirements must be met. (Points: 1)
       
[image: image1.wmf]A subnet mask of 255.255.255.255 must be used. 
       Multiple IP addresses must share the same left-most bits. 
       [image: image3.wmf]A subnet mask of 255.255.255.0 must be used.
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